Lesson 2.2: Slope and Rate of Change



Find the slope of the line passing through the given points. Then tell whether the line rises, falls, is
horizontal, or is vertical.
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Perpendicular and Parallel Lines
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Tell whether the lines are parallel, perpendicular, or neither.

Ex: Line 1: through (-6, 6) and (2, -6)
Line 2: through (1, -1) and (5, -7)
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Tell whether the lines are parallel, perpendicular, or neither.

Ex: Line 1: through (3, 15) and (-1, -5)
Line 2: through (-1, 2) and (-4, 17)
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Tell whether the lines are parallel, perpendicular, or neither.

Ex: Line 1: through (-1, 3) and (2, 9) 2
Line 2: through (-4, 5) and (2, 2)




Find th& average rate of change 1§y y relative to x for the ordered pairs. Include units of measure in your
answer. - -

(1, 8), (7, 20) x is measured jn seconds and y is measured i@
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A road rises 195 feet over a horizontal distance of 3000 feet. What is the slope of the
road?
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